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de <stdio.h )

&R
main(void) {

printf("Hello World!!\n");

Rl

curn 9;

[Hello World] &FRR9 Bt Dl
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1 #include <stdio.h>
2 #include <stdlib.h>
3 #include <time.h>

4

5 int main(void)

6 {

J0O035 LEENUIZH
rintf("U 2 AITATHEHIFZADLTLEZTWVW\N"); Uﬂhcjh?\ﬂjj_%%kjjb—t<7£éb\
Brintf("Z—: 1, Fatk: 2, SK: 3\n"): J—:1, Fax: 2, )\—: 3

int mine = 0;
scanf("%d", &mine); 3
pr-lntf(u u);

srand((unsigned int)time(NULL));

(mine == 1) {

printf("&REDFIE 7 — SIE &7‘;7‘2—_—_@%’:‘1 /\°_

(mine == 2) {
printf("HRIDFIE F3+

(mine == 3) { ’
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